Chapter 6 (Lesson 4)
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The solution to an equation is the value for the variable that makes
the sentence true. 4§

*Check each side of the equation to be sure it isf
(no_like terms and no_parentheses)
To solve the equation 6x - 8x + 4 = -10, combine like terms on
the left side first -2x + 4 = -10

*When there are two operations on one side of the equation, we always
undo the addition or subtraction first.

-2x + 4= -10
-4 -4
FE— -2x = -14
2x= <14
- : ; . 2 =2
This results in a one step equation which we solve
by dividing both sides by -2 x =7

4x - 2 = 10
(MW= =)0
s

Bubble Method
*Put a "bubble" around the
variable and the number
connected to it

* Undo the addition or subtraction
with the inverse operation to
make zero

* Draw line, copy bubble term,
equal sign, and do the
arithmetic on other side

* "Pop" the bubble and solve the
resulting 1-step equation

Work if you do not use
: *Write down original equation.
4x -2 =10 ’ *Substitute your solution for
L/ ) 10 “ the variable.
X~ = Do the arithmetic to prove
+2 e ; left side = right side
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-b+5=-16 Check:
ra " —bt+t5 =716
Tl j - Zlayrs
= _ 5, ~a\+5
Tler = 1 |-V
—lb =2\
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Example 4:
Solve: 6x -7 = -43 Check:
(Gxs — =" Gr-1="132
T
T -3 -7
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Example 3:
Solve: 41 =5 - 6h Check:
9= 5 +eh 4) 25—t h
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Example 5:
Solve: %‘+6=3 Check:
D=3
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